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O000000000000000000O Question Three
This question dealt with real world scenarios taken from corporate
financial statements.It is important that the exam paper reflects actual
Issues in financial statements and those candidates can apply their
knowledge to these scenarios. A public limited company which
developed and operated airports was involved in litigation over an
accident at one of the airports and the issues was whether a provision
or contingent liability should be provided for.In this case it was
Important for candidates to justify their conclusion by discussing the
nature of a provision and contingency.This part of the question was
well answered although many candidates came to the incorrect
conclusion. In part b,candidates had to determine the relationship
between an entity and a company that it had invested in. There was a
need to discuss the relationship between the two entities in order to
determine what the relationship constituted.Many candidates did
not again use the scenario and in this question it was critical to
discuss the facts in the question.However the question was well



answered. In part c the entity issued shares for the acquisition of
franchise rights at a local airport andshowed irredeemable preference
shares as equity instruments in its statement of financial
position.Candidates had to determine the correct accounting
treatment for these items. This part of the question was not well
answered with candidates not understanding how to account for the
irredeemable preference shares.Understanding the nature of equity
and liability is a key element of the syllabus.Overall the question was
well answered. Question Four In part a,candidates had to comment
on the different approaches which could have been taken by the
International Accounting Standards Board in developing the *  IFRS
for Small and Medium-sized Entities’ explaining the approach
finally taken by the IASB.Additionally candidates had to discuss the
main differences and modifications to IFRS which the IASB made to
reduce the burden of reporting for SME’ s.Specific examples had to
be given and also a discussion of how the Board had dealt with the
problem of defining an SME.This part of the question was very well
answered.The subject had been very topical and been the subject of
articles in the accountancy press. In part b candidates had to discuss
how the certain transactions should be dealt with in the financial
statements of an entity with reference to the * IFRS for Small and
Medium-sized Entities’ .The answers to this part of the question
were quite variable.The three topic areas chosen were defined
benefit,the purchase of an entity and research and development
expenditure.Candidates were generally unclear about how to
account for the transactions and many used full IFRS.The main issue



was that candidates automatically assumed that the corridor
approach would be used for defined benefit schemes which was
Incorrect. This question was generally well answered. (1 [0 [J [0 [
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